
Ceinture blanche 
calcul (a)

1 + 1  =

1 + 2 = 

1 + 3 = 

4 + 1 = 

5 + 1 = 

8 + 1 = 



Ceinture blanche 
calcul (b)

1 + 2 = 

1 + 1  =

4 + 1 = 

1 + 3 = 

8 + 1 = 

5 + 1 = 



Ceinture blanche 
calcul (c)

1 + 8 = 

1 + 1  =

2 + 1 = 

3 + 1 = 

1 + 4 = 

1 + 5 = 



Ceinture blanche
calcul (d)

1 + 5 = 

2 + 1 = 

1 + 1  =

1 + 4 = 

3 + 1 = 

1 + 8 = 



Ceinture jaune 
calcul (a)

3 + 2  =

7 + 2 = 

6 + 2 = 

4 + 2 = 

2 + 2 = 

5 + 2 = 



Ceinture jaune 
calcul (b)

2 + 2 = 

5 + 2 = 

3 + 2  =

7 + 2 = 

6 + 2 = 

4 + 2 = 



Ceinture jaune 
calcul (c)

2 + 6 = 

2 + 4 = 

2 + 3  =

2 + 7 = 

2 + 2 = 

2 + 5 = 



Ceinture jaune 
calcul (d)

2 + 5 = 

2 + 3  =

2 + 2 = 

2 + 7 = 

2 + 6 = 

2 + 4 = 



Ceinture orange 
calcul (a)

5 + 5  =

3 + 3 = 

3 + 4 = 

3 + 5 = 

2 + 8 = 

7 + 3 = 



Ceinture orange 
calcul (b)

3 + 4 = 

3 + 5 = 

8 + 2 = 

3 + 7 = 

5 + 5  =

3 + 3 = 



Ceinture orange 
calcul (c)

2 + 8 = 

5 + 5  =

4 + 3 = 

3 + 5 = 

3 + 3 = 

3 + 7 = 



Ceinture orange 
calcul (d)

3 + 7 = 

4 + 3 = 

5 + 3 = 

8 + 2 = 

5 + 5  =

3 + 3 = 



Ceinture rose 
calcul (a)

4 + 5  =

6 + 6 = 

7 + 4 = 

3 + 9 = 

10 + 3 = 

4 + 8 = 



Ceinture rose
calcul (b)

3 + 9 = 

10 + 3 = 

4 + 8 = 

4 + 5  =

6 + 6 = 

7 + 4 = 



Ceinture rose 
calcul (c)

9 + 3 = 

5 + 4  =

6 + 6 = 

4 + 7 = 

3 + 10 = 

8 + 4 = 



Ceinture rose 
calcul (d)

6 + 6 =
 
9 + 3 = 

3 + 10 = 

8 + 4 = 

5 + 4  =

4 + 7 = 



Ceinture verte 
calcul (a)

7 + 5  =

6 + 6 = 

5 + 5 = 

5 + 9 = 

5 + 6 = 

10 + 5 = 



Ceinture verte 
calcul (b)

5 + 9 = 

5 + 6 = 

10 + 5 = 

7 + 5  =

6 + 6 = 

5 + 5 = 



Ceinture verte 
calcul (c)

5 + 10 = 

5 + 7  =

6 + 6 = 

5 + 5 = 

9 + 5 = 

6 + 5 = 



Ceinture verte 
calcul (d)

5 + 10 = 

9 + 5 = 

6 + 5 = 

5 + 7  =

6 + 6 = 

5 + 5 = 



Ceinture bleue 
calcul (a)

9 + 5  =

6 + 6 = 

10 + 4 = 

4 + 8 = 

7 + 5 = 

6 + 10 = 



Ceinture bleue 
calcul (b)

4 + 8 = 

7 + 5 = 

10 + 6 = 

9 + 5  =

6 + 6 = 

4 + 10 = 



Ceinture bleue 
calcul (c)

4 + 10 = 

8 + 4 = 

5 + 7 = 

6 + 10 = 

5 + 9 =

6 + 6 = 



Ceinture bleue 
calcul (d)

8 + 4 = 

5 + 7 = 

6 + 10 = 

5 + 9  =

6 + 6 = 

10 + 4 = 



Ceinture marron
calcul (a)

7 + 5  =

6 + 6 = 

20 + 3 = 

6 + 9 = 

5 + 30 = 

40 + 2 = 



Ceinture marron
calcul (b)

6 + 9 = 

30 + 5 = 

40 + 2 = 

7 + 5  =

6 + 6 = 

3 + 20 = 



Ceinture marron
calcul (c)

6 + 6 = 

20 + 3 = 

9 + 6 = 

7 + 5  =

5 + 30 = 

40 + 2 = 



Ceinture marron
calcul (d)

20 + 3 = 

5 + 7  =

6 + 6 = 

6 + 9 = 

5 + 30 = 

40 + 2 = 



Ceinture noire 
calcul (a)

13 + 5  =

6 + 16 = 

60 + 9 = 

2 + 19 = 

7 + 50 = 

70 + 2 = 



Ceinture noire 
calcul (b)

2 + 19 = 

7 + 50 = 

13 + 5  =

6 + 16 = 

60 + 9 = 

70 + 2 = 



Ceinture noire 
calcul (c)

5 + 13  =

16 + 6 = 

19 + 2 = 

7 + 50 = 

9 + 60 = 

70 + 2 = 



Ceinture noire 
calcul (d)

19 + 2 = 

7 + 50 = 

5 + 13  =

16 + 6 = 

9 + 60 = 

70 + 2 = 



Ceinture multicolore 
calcul (a)

80 + 12  =

6 + 9 = 

60 + 17 = 

18 + 4 = 

5 + 17 = 

50 + 8 = 



Ceinture multicolore 
calcul (b)

9 + 6 = 

60 + 15 = 

4 + 18 = 

17 + 5 = 

80 + 12  =

8 + 50 = 



Ceinture multicolore 
calcul (c)

18 + 4 = 

5 + 17 = 

50 + 8 = 

80 + 12  =

6 + 9 = 

60 + 17 = 



Ceinture multicolore 
calcul (d)

17 + 5 = 

8 + 50 = 

80 + 12  =

9 + 6 = 

60 + 15 = 

4 + 18 = 



1 blanche 
2 jaune 
3 orange 
4 rose 
5 verte 
6 bleue
7 marron (ou rouge)
8 noire (ou violette)
9 multicolore (ou brillante)


